Name:
Mrs. Roumbos

1)

2)

Review ;_for' Algebra Exam ﬁ Z.

{ A !“ { & Kﬁ-, I
Determine which graph accum’re!y repr'esen‘rs

the given seft:

{negative integers greater than or equal
to -b}

A)

6-54-32-101234
B) 65432101234
C) ©65-43-2-101234
D)

65432101234

Which of the following is the graph of the
solution set for -2(x- 1) > 14?

A)
409 876-5432-10
B)
098-76-5-432-10
C)
409876-54-3-2-10
D)

09876543210

‘_ 3)

4)

5)
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Date:
8A Period

Solve and graph the solution set for the given
inequality in the domain of the set of real
numbers:

9-x=7x+17

What interval notation represents the data
graphed below?

567 89101112131415
0 [7.13)
D) (7.13)

A) [7.13]
B) (7.13]

What interval notation represents the data
graphed below?

54324012345
C) (4]
D) (»4] -

A) (4)
B) (=.4)
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6) Express the given number line in interval 9) Solve the given equation for the variable and
notation: check:

A Lo T el = 30 m
0 2 46 81012141

7) If15=2n-5and-3x-6 = 30, what is the
product of xand n?
A) -120 C) -40
B) 40 D) 120

10) The graph below represents which of the
following inequalities?

54321012345

A) -2=x<5 C) -2=x=5
B) -2<x=<5 D) -2<x<5
8) Which of the following is the graph of the
solution set for 5x- 3(x+ 2) > 8?
A)
012345678910
B)
012345678910
C)
012345678910
D) g g 11) The graph below represents which of the

following inequalities?

54321012345
A) x=z-2 C) x>-2
B) x=-2 D) x«<-2




12)

Solve the following literal equations:

QSolveforx:ax-b"—-c

%J Solve forc: 3(c—2a)=5

13h§01ve forz:be+z=f

bh
Q. YSolve forh: A = —
%) :

14) How many of the following numbers are
solutions to 7 - 3x< 35?2

-15,-14, -13, 14, 15
A) 1 ) 3
B) 2 D) 4
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15) Determine the solution set and graph for the
given inequality:

12=3x+3
A) x=3,
54321012345
B) xz5, «———t—t+—t——+—+—
5432101234
C) x=<5,
54321012345
D) x=<3,

54321012345

16)  Which of the following graphs represents the
set of natural numbers less than 8 but
greater than -2?

A) 2-1012345678
B) 2-1012345678
C) 21012345678
D)

54321012345

17) What is the value of xif z= xy+ b2

z+h o) b-z
1 4 y
b+ z D) zZ-
=y y

A)

B)




18) What is the value of xif Ba-3x=2b+4x?

A) Ba+2b 0 2b-ba
-7 7

B) Ba-25k D) ba+ 26
7 7

Questions 19 through 23 refer to the following:

Solve the given equation for the variable:

19) 43=3(x+1)+2x

A) 39 €) 8
B) 7 D) 40
20) 4y+14=5y+8
A) -6 C) 22
2
B) 6 D) =
) ) 3
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21)  The inequality %x+ 3 < 2x- 6 is equivalent to

A) poren - C) x< .
6 6
B) x>6 D) x<6
22) bx-2x+15:=2x+14
A) -1 C) 29
B) 1 D) -29
23) 4(2n-1)-3n=2(n+4)
A) 3 C) -4
4
B) — D) 4
) 3 )

24) What is the solution for x given the equation

4 i23:= 25

5

A) 75 ) -75
B) 60 D) -60
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Name:
Mrs. Roumbos

Date:
8A Period

Review for Algebra Exam #2
[“j{“b.{u -:‘i% 'ﬁl

1) Determine which graph accurately represents | 3)  Solve and graph the solution set for the given

the givenset: .7 inequality in the domain of the set of real
/“F“"U“' ‘ numbers:
{negative intégers greater than or equal
to -5} 9-x=7x+17
A) @
65432101234 - s
B) «®@®i——+—t+—i—i—tti> o 5 j?/\,.\ +1{/
) 65432101234 [ &S * 2
@ 65432101234 |/ B
D) 6-5-432-101234 i% > I X L—@
/N +1L. = O/

What interval notation represents the data

4)
graphed below?

2)  Which of the following is the graph of the 5678 9101112131415
solution set for -2(x- 1) > 14? A) [713] ¢y [7.13)
A) B) (7.13] D) (7.13) )

. 09876543-2-10 i

B) /
-~ 09876543210
)

0987654-32-10
D)

10987654-32-10

- :' |\ | {
) \ 5) What interval notation represents the data

A) (4.)

graphed below?

_ \54321012345
C) (4]

B) (».4) D) (»4] -



6) Express the given number line in interval

notation:
e ——

02468 1012141!1

(10,60)

-

5 ™
Fa L2, 1
{ N =
i

7) If 15= 2n-5and -3x- 6 = 30, what is the

product of xand 72

C) -40
B) 40 D) 120
5:n-5 - Ax-=50
{ 3 vi—l a= ,"ﬁtf{? -"I{- .{-;;
a— = B m _ ,{- /: ,is i
204 ot o g
"7 I
Nn= (o ;(%71‘42/
Q/ ) - 120

8) Whichof the followmg is the graph of the
solution set for 5x- 3(x+2)> 82

A)m-—I——l—l—b

012345678910

B)«p—l—l—-l—-l—+—l——l——l-—l—>

012345678910

P .

/C) M)

012345578910 5
u
012345678910

i

‘.C’ g _f = \\\ WA
J/ ;)(\ B ) {_x —f“é_.J: ~ b
\ L7 r o C

5 X ~25~b 78
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9) Solve the given equation for the variable and
check:
m+m+1=39+m

I +]=37 +M
—y

—
1 -~}
h+!{ =57
e Y
il e
f A \ o0
b
L N .’L,
~ _
- o
memtl =507
2 4] - 2 -] cf ¢
241081l - 2 S g
77 =77
O

10) The graph below represents which of the
following inequalities?

54321012345
/A) —2<"'5h“‘” C) -2sx=bH
By Z2<x=5 D) -2<x<5

11) The graph below represents which of the
following inequalities?

54321012345

A) x=-2 C) x>-2
T e




%) Solve the following literal equations:

,,,f,..-a;;_’

e T 3

X = —*j'/‘ )
[

-Y

3 ,S\\'
~L“
?@

13 olveforz:bc+z=f
}¥§ —=0C

Fa ) g/
Azl ). 24

L =
” v =
// —. i o e i

14) How many of the following numbers are
solutions to 7 - 3x< 35?

/16 igf/k 14)15) 3
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15) Determine the solution set and graph for the
given inequality:

12=3x+3

A) x=3,
54321012345

B) x=5,
54321012345

C) xs= 5, < ————,

54321012345

D) x=<3, Gmmmm——
54321

16)  Which of the following graphs represents the

set of Mrllj_mbers less than 8 but
greater than -2?

S rrreeesreie 11100

oz |

+— 9000000000
/B)/—2-1012345678
_frgeeessesses.

2-1012345678
- -
,0/)/54—3-2-1012345

17) What is the value of xif z= xy+ b2

y ¥
; g g
g) 2*2 p) Z=b
=Y y
Z = ku b
i ) i
ks £ wl)
).\ = X\
z Y-l =
aaars s
A -
3 —z) 5



18) What is the value of xif Ba-3x=2b+4x?

26-5a
7
Ba+2b

)

D)

Questions 19 through 23 refér to the following:

Solve the given equation for the variable:

19) 43:5(:?1)+2x
A) 39
B) 7

(1 Ixfd LA

!
i -~ -f‘:
45 - Ex +53
— ’3
; s &sp,;‘
o> S5
-fl‘

20) 4y+14=5y+8

_A) -6
) 6
I ; B f ‘\‘;
Lgmﬁw}% = JL3+§
Y2 G
;L " O+ 0
i *"i L.,./) :/é
1y P
2 —

CED
“DY40°

C) 22
2

D i
) 3
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21)  The inequality —;—x+ 3<2x- 6 is equivalent to

A) e CY o< o
b 6
/B) x>6 > D) x<6

22) Bx-2x+15=2x+ 14

B) 1 D) -29
Ox x5 2 2x e
3xt1s = 2Xt
-¢X _ﬂ_,._w«-—:{:":( .
TXHS Y
5 ~IS
ﬂl_pm_,,__ﬂ
‘ X =~
23) 4(2n-1)-3n=2(n+4)
A) 3 C) -4
B) 2 B) 4
Utn-)-3n = ZUn#

. P g
Sn-‘-on = lnte / N

f A~ |9

o e . A / 87 2 e
X i, - i i A f T 2 B
s’; n-Y% - ¢nTe | Ji i
:\4 ey 3

24) What is the solution for x given the equation
4

g)ﬁ 23 =-25?
A) 75 i)(-rLS "‘Zﬁ/c) 7
B) 60

_,Z—S

/ T (,,

‘f@



